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[TO3-FM101 Test 0]

[pre-CU] mc_peds.041022230030_FM101_Pshp_calu_collect_ext.txt [ 25.0C]

[CUold] muonPeds.330000869_BT13_IDEAL_digi_TO03.txt [ 25.0C]

[CUnew] muonPeds.digitization-latte-v1r030603p2_700000277_digi_DIGI_TO03.txt [ 25.0C]




T03-FM101 TIME EVOLUTION [Reference=pre-CU] for Pedestal Position [Gain index 5, LEX8]
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T03-FM101 TIME EVOLUTION [Reference=pre-CU] for Pedestal Position [Gain index 5, LEX1]

2 gg L —rown & gg [y L Fowo] & gg L —rowT & gg L [ROW T
‘€20 L"" COoL o —Row 1| "€ 59 lv+ coL o] _Row 1| ‘E59 L" COL 0 —Row 1| °E 59 E‘Y—,' COL O _ROW 1
Si5E rowz| S {5F rowz2| S{gE row2| S {5F ROW 2
O10E —ROW3| O 10E ROW3| 10 E —ROW3| O 10E —ROW 3
Qs5E QO s5E . Q 5E
< g . “h\'./. < g ) 1 < ?‘, 3 “\/M
- 0 #02-00 200808 T1 214 L T8 pﬁas‘e
[(ROW T
-"é' -COL1 row 1
3 3 ROW 2
[&] 3 -ROW 3
[=] .
< 3 “‘\%’.
28w cora o 2 g o 930 g oy 8 e THERREE
‘Eop BE Cco —Row 1| E 5 FULE Cco -ROW 1| °E 59 B CO —ROW 1| 'E 50 FL= (¢]0) _ROW 1
Si5E ROwW2l 3 Y5 F ROW2| 335 F rROW2l 3 JgF ROW 2
O10E —ROwW 3l ) 10FE ROw3| 4 E —ROW3l O 10FE —ROW 3
| - - 25 2
13 - °F ""“‘ﬁwv/ OF OF
5E — 5f *% 5E -5F
-10, 4161 22 “108#02-0020-20605 1 21456 1.822:223 -10] EaARgR T2 105-40-2-0020-20608 T 1214 61822227
20 Time phase 20 Time phase ., Time phase 20 Time phase
225 co —rowo] &8 25 co —ROW T ‘225 co —rowo] & 25 co —ROW T
‘20 L’*‘ L3 —Row 1 °E 59 QY*' L3 —Row 1| 50 L" L3 —Row 1 "€ 59 E‘Y—,‘ L3 —ROW 1
Si5E row2{ 3 {5F rowz( 3i5E row2{ 3 {5E ROW 2
O10E —Rows| ¢ 10E Rows| 10 E —Rows| ¢ 4pE —RoW 3
Qs5E a 5E = [a] A
<8 e <8 oo "“‘E%-/ <BE < 3
5E - 5E 3 3E “\/’
-10 -10 -10 -10
-U.aU. LA).3U.aU. 214 1.01. o/ ~U4U.2FUU.ZUAQU.DU.D TT.ZT.41.01.04 4.22.4 4 1.01. o/ -UZU.2-UU.ZUQU0U.0 TT.2T.41.0T.02 £.22.4
030 Time phase @ 30 Time phase 30 Time phase @ 30 Time phase
225 §+ COL 4 o9 = 25FY+ COL 4 o0l =25 EE- COL 4 —TOVY = 25 E|!- COL 4 oo
€ 20 E —ROW 1| 'E 50 EL -ROW 1| E 50 EL —ROW 1| °E 50 L —ROW 1
Si5 row2 3 {5 row2( 395 row2{ 35 {5 ROW 2
010 3 —ROW3f ¢ 1o 3 —Rowsf 1 3 —ROW3f ¢) 1o 3 —ROW 3
Qs5E QO 5k Q5E Q 5E
CIE .- Va LI . —_  —" <o <o
5E - 5E 5E s TS, —"
10 1040200200608 TT2TALE 182 2224 0. 6T-8 27 100200200608 T T2 TALE 82 2224
20 Time phase 20 Time phase ., Time phase 20 Time phase
2] —rowo] & owo] & —rowo] & [ROWD
=25 X+ COL 5 rows| = 25(Y+ COL 5 =25 fX-COL 5 = 25FY-COL 5
£ 50 E —Row 1| “E 59 EL -Row 1| “E 57 EL —ROW 1| E 59 Kl _ROW 1
S15E ROW 2 5E rRowz| 35 ROW 2 5E ROW 2
O10E —Row3| O 10E Row3| 10 E —Row3| O 10E —ROwW 3
e o't a'de a'SE
3 < 0F oo A§/" 3 < 0F
3 -5E o ) -5E “\/’.
-U-40- 2040 6T 22 1057020020 20608 T2TAL61.82 2.224 TBT: T2 10020020 BUB T T 2T 61.82 2.22.3
*30 Time phase @ 30 Time phase 30 Time phase @ 30 Time phase
=25 EX+ COL 6 —Fov0 = 25 )Y+ COL 6 ToWT] =25 EX- COL 6 oWy = 25 EY- COL 6 o
€ 20 E —Row 1| E 50 KL -Row 1| E 50 EL —ROW 1| °E 59 Et —ROW 1
Sk Byy 3F sy 3k e B
O10E = O 10F O10E = O 10E
a'de a'te a'dt a'fE
<OF - ‘\e/—. < OE e V. <o <o
) 5E 3 -5E &\/4
-040: 2040.80- BT 22 105 402700-20-20:60:8 1 TZTAT51.82 107000z 0608 TTZT A 6182 2.223
030 Time phase @ 30 Time @ 30 Time phase
=25 i+ COL7 [FOWOl = 25 ElY+ COL 7 =25 E!- COL7 [-oW0
€20 —ROW 1 "2 50 < 20 —ROW 1
SIE S I 315k Fows
O10E = O 10F [SET]3
a'de a'%e a9
< O0E oo g%‘ < 0F oo A___"/*’ < 0FE oo _
S5E -5E -5E
10 5o aTEE T A16T82 2.24 1057020020 20608 T2TA61.82 2.224 -0-40: 204060 2T ATt 22 10027002000 T2 T 61.82 2.22.3
030 Time phase @ 30 Time phase 30 Time phase 0 30 Time phase
=25 X+ COL 8 —FovY = 25FY+ COL 8 FOWT] 225 EX- COL 8 ~oW] = 25 E[Y- COL 8 oo
£20 F —ROW 1 “E 50 F —Row 1 “E 50 —Row 1 “E 50 E* —ROW 1
Si5E row2 3 {5 F rowz( 3Y5F row2 3 {5 F ROW 2
013 3 BN P RBE _ROW 3 018 3 NE RBE _ROW 3
Qs5E a 5E Qs5E Q 5E
LOE o "\v/'. <L 0F oo v'. <of < 0F
SE SE - I 5E
10 a0 -20.40.60- 2T AT BT, 2. 1054020020050 8 T 2T 61.82 2.223 1050 20.40.60. 2T AT6T. 2 1030200200608 TT.2T AT 61.82 2.22.4
20 Time phase ., Time phase ., Time phase ., Time phase
12} —rowo] £ owo] & —rowo] £ OW 0
=25 X+ COL 9 = 25HY+ COL 9 =25 EX- COL 9 = 250Y-COL 9
c20 —Row 1| "2 5o FL —Row 1] g5 KL —Row 1| ‘2 5o FL —ROW 1
E Rowz| 3 row2| 3 Rowz| 3 ROW 2
018 - _RoW3| BE _ROW 3 018 - _RoW3| ¢ BE _ROW 3
QS5 Q 5 QS5E Q 5E
T O0E oa V‘ < 0F oo V’—* <ot < 0F
5E -5F 5E -5 =
-10, 4161 2. 105 702:00-20:205078 1 T2TALBT1.82 2.2223 10_ 520 0. 30.60. E:ARR 2 105 02-002020:608 T 12T 61822222
030 Time phase @ 30 Time phase 30 Time phase @ 30 Time phase
=25 EK+ COL 10 FFOWD = 25 ElY+ COL 10 —OWD] =25 fIX- COL 10 -FOW0 = 25 E|!- COL 10 [-owo
€20 —Row 1| € 59 -Row 1| € 5 —rRowW 1| E 59 —ROW 1
S E ROW2l 35 fRF ROw2| STRE row2l 35 JRF ROW 2
018 ] _rows| & RBE _Row 3 018 ] _rows| RE _Row 3
Qs5E a 5FE Qs5E Q 5E
<L O0E oo h:hh"/z’. < 0F oo V" <O0E < 0F 5
5E -5F -3 SE TS __—"
-10 -10 -10
-0.40. .20.40.80. A1, 2. ~0.40.2-00.20.20.60. 27, 22, -0.40. 120.30.80. iR 2. ~0.40.2-00.20.20.60.8 1 1.21.2q;51.82 i.zz.z
Ime phase Ime phase ime ase
»n 30 o 30 »n30 0
225 X+ COL 11 —FOW0l = 25 Y+ COL 11 FOW0] 225 EX- COL 11 [—FOW O
c —RowW 1| 2 —Row 1| g —ROW 1
S5%F rowzl 5 20F rowz| S3F ROW 2
O10E _Rows| & 4o Rows| G40 E _ROW 3
QS5 Q 5 Qs5E
< O0E oo V’. < 0F oo h:nﬁ/’. <o0E
S5E - -5E 5 E
104 -10, 10

“Time phase T " ime phase T " Time phase T " ime phase



T03-FM101 TIME EVOLUTION [Reference=pre-CU] for Pedestal Position [Gain index 5, HEX8]
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T03-FM101 TIME EVOLUTION [Reference=pre-CU] for Pedestal Position [Gain index 5, HEX1]
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T03-FM101 TIME EVOLUTION [Reference=pre-CU] statistics for Pedestal Position [Gain index 5]
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T03-FM101 TIME EVOLUTION [Reference=pre-CU] for Pedestal FWHM [Gain index 5, LEX8]

ADC units ADC units ADC units ADC units ADC units ADC units ADC units ADC units ADC units ADC units ADC units

ADC units

v LoLNws

'
IS

B LoaNwS

[SPNSTXEN

o 4 o4 a4
[-ROW ] [FOW T [-FOW U] [FOWT
+COLO Crow 1| 2 g Y+ COL 0 Crow 1| 2 g -COLO Crow 1| 2 g -COLO row 1
3 rowz| 5 F rowz( 3 GF rRowa( 3 GF ROW 2
3 . /“—ROWS O oE cce—R0W3[ O 0E . —=2%_row3| O 0E - %« —ROW 3
et 2 5 2 % o o— = 9‘ % [
g 3 &1 e
-4 - -
» 4- i @ 4- * 4- B o ilm‘epi';as'e
[—ROWT] [(ROW T
E|X+ COL 1 “row 1| 2 g z g = g E‘Y—,‘ COoL 1 _Row 1
3 Rowz| 3 4 59 5 9E s ROW 2
. ».——/“ROWS O o Q0 O 0F oo - = ROWs
. 2 -1 2 -1 9: 1E
g 3 :§ :§ g
-4 - -
R 4— E 4 E " 4— .40.2-00.20.20.60.8 1 1.21.¢B|m1.e82p?.2a28.e1
+COL2 Chowi| = 3fiy+coL?2 ow1| £ 3 £ 3flv-coL2 o
3 ROW2| 3 21 3 ROW2| 3 21 3 21 3 ROW 2
. ove o —"% row3 O 0FE eoce ==2slrows| O o O 0F eece - —Row 3
- g3 23 23
1 -3 -3 3
4161 22 A8 A6 T 22 -4 EaARgR T2 -4 540-2-00-2020-608 1 T21TALe 1822222
Time phase o 4 Time phase o 4 Time phase w4 Time phase
Ex+ coL3 “ow| £ 3HY+cCOL3 Cows| = 3f-coL3 —ow| £ 3EY-coL3 oW
3 row2{ 3 GF rowz( 3 GE rowz{ 3 GF Row2
. veve—ooee—1F0W3 O (F ge 2oe—"1F0W3| O gf oo e B ST TR S —Row 3
- 23 231 3
1 -3 3E 3E
A16t; 22 A5 A6 T 22 A, 16t T22; -4 5-40-2-00-20-20:6051 121461822223
Time phase @ 4 Time phase w4 Time phase " 4 Time phase
EX+COL4 o 2 3V« COL4 ~om £ s x-CoL4 —om £ sEy-coL4 o
3 rowzl 3 21 3 row2| 3 21 3 rowzl 3 21 3 ROW 2
3 ”'_M—Rows O oE coseo— —%R0W3| O oE cove v — s o 3 cove e =28 _cow3
- g3 231 23
1 -3 3E 3E
AT6T, 22 A8 A6 T, 22 -] AT6T 2 A 5402002020608 1 T2TALs .82 2223
Time phase w4 Time phase o 4 Time phase w4 Time phase
EX+ COL5 o) £ 5[V COLS o £ 5 K- COLS oy £ sEY-COL5 FowD
3 rowzl 3 21 3 |rowz| 35 21 3 rowzl 3 21 3 ROW 2
. oo come—" zROW3| ¢ 0E oo ==3R0W3[ O 0E e .e g=—0ROW3 () 0FE oo  eceg———"5ROWS
; <3 =3 Q3
] -3 3E -3F
4161, 22, A% A6 T, 22 -A. AT6T: K A 5:40:2-00-2020:608 T2TAL6T1.82 2.22.3
Time phase @ 4 Time phase w4 Time phase " 4 Time phase
[—ROW D] [[ROW T - [—ROW O] - [[ROWT
EX+ COL 6 owy| = 3fY=COLG Tow?| £ 3[K-COL6 ow| = 3EY-COL® o
3 rowz( 3 GE rowz( 3 GE rowzf 3 GF ROW 2
3 .o L e®®)_ROW 3| O ofF 35 ROW3| (y ok .o —2al ROW 3| O ofE .. . _ROW 3
) o 2 <°t 1E v b 2 -1E v -
. 2E 2E
4 = -3
AT.6T 22 | B AT.6T T2 “A540.200:20-20608 1 T-2TA6T1.82 2224
Time phase @ 4 w4 Time phase " 4 Ti hase
EX+COL7 ow] £ 3f[Y+COL7 o] £ 3 CoL7 on £ 3f¥-CoL? o
3 ROW?2| 3 3 ROW2| 3 3 ROW2| 3 3 ROW 2
. _=o| 1E 1E e 1E
. ceve— —ROW 3| O ofE ”'_M_ROWG O 0L oo —ROW 3| O 0 oo %J\OW3
) <Ot -1 9: -1E 9! -1E
. -2 2F -2E
. -3 3E -3E
-040:2-00. 030608 T T.2I 41618 2 2.2.4 48 A6 T 22 -4 AT.6T T2 4§02 00200 T T-2TA61.82 2223
Time phase Time phase  , Time phase  ~ , Time phase
EX+ COL 8 on;| £ 3fY=COL8 on | £ 3[X-CoLB o] £ 3fY-CoL8 o
3 RrROW2| 3 3 ROW2| 3 3 ROW2| 3 3 ROW 2
. e _rows| & JE . =003 5 JF ”'_M_ROWS o oF oo omgenFOWS
. 2 -1 2 -1E 2 -1E
. -2 2E 2E
. -3 -3 E -3E
AT6T. 2. -4 AT6 T, 22 -4 ATHT 2 A5 4027002020608 TTZT AT 61.82 2.22.4
Time phase Time phase Time phase Time phase
mow, @8 4 —owo] @ 2 rowy @ 4 OW 0
EX+COL 9 w2 3[EY+COLO w2 3fx-CoL9 ow £ sEY-coL9 rome
: By 3 3 ETHIE] ] e
] cose= = O oF Qo0 = = Qo
= g i e 2 i =R b
. -2 2F 2E
. -3 3E -3
4161 2. -4 A6 T 22 -A. E:ARR 2 A5 402-0020 205608 TT2T AT 61822222
Time phase Time phase Time phase Time phase
rowy & 4 oW @ 24 rowy & 4 —ROW T
EX+ COL 10 —owy 2 3[Y+ COL10 Fown) 2 3 fiX- COL 10 —omg 2 3 Y- COL 10 o
3 ROW 2| g 21 T ROW 2 g 21 3 ROW 2| g 21 3 ROW 2
- - - - —V
. ee _——=%{ row3 O 0 POV 5 0F g =08 _ROWJ O 0F o L _ROW 3
. [=] a -1 a -1
) < <-2F < -2
m " . ime phase
E[X+ COL 11 I £ 3 fX- COL 11 oW = 3fly-coL 11 T on
] rowal § 3 3 rowz| § 3 ] rowsl § 3 ] ROW 2
. e _____——=%_Row3 0o coco— __—=2%% ROW3 OO0E oo _—=22| Row 3 O 0FE oo ______———=—=2{ ROW3
. a -1 a -1g a -1E
= < g < g 3 < -2F
1 2 ak ]
“Time phase "Time phase “Time phase “Time phase




T03-FM101 TIME EVOLUTION [Reference=pre-CU] for Pedestal FWHM [Gain index 5, LEX1]

ADC units ADC units ADC units ADC units ADC units ADC units ADC units ADC units ADC units ADC units ADC units

ADC units

LOLNWS

Adab

B LoaNwS

[SPNSTXEN

o 4 o4 a4
+COL O Crow1| = 3HY+ COL O T ow 1 Z 31X-COL0 Chow1| = 3fY-coLo oWt
: EOWZ 3 1: ROW 2 3 1 : ROW2| 3 1: ROW 2
. oo —Rows| ¢ ¢ FOW3[ ) g F o ROWH ) gF . —ROW 3
X Q 4 a 4E Q 4E
] < % <.§_ <.§_
3 a aE 4E
w4 w4 o 4 A0.2-00.200.508 112 'Bl:Elm'eMpEas'e
EX: coL 1 “ow| 2 3fv+ COL 1 ot =3 = sfly-coL1 ow
3 ROW 2| g 21 3 ROW 2 :=1 21 g 21 3 ROW 2
3 oo _ —eel=RW3 O oF eelRW3| O ¢ O of oo _ aal-ROW3
. a 4 [= ] a 4
3 < % <_§ <.§_
3 3 2 4
: : .30.2-00.200.60.8 11214 5182 2224 AeLREIES
[—ROW U] Q g ﬂ g ﬂ g [CROW T
+COL2 —Row 1| °E 2 'c 2 'c 2 -COL2 _ROW 1
3 ROW2{ 3 g 39 3 1: ROW 2
. eeve —rowsl ¢y ¢ (ST O 0F eoce SislK
. a 4 (=t o 4
3 < -2 <-2 < 2F
1 -3 -3 3E
U AU.Z-U VU 4UU0 TT.21.41.01.0 2 2.22.4 -4- E -4- W4 1.01. L -4- 4U.2-UU.2U0.4U0.0U.0 TT.2T.41.01.02 2.22.4
Time phase o 4 o 4 Time phase w4 Time phase
+COL3 Crow| = £ 3fk-coL3 “owr| = 3fY-coL3 oW
3 ROW2| 3 = 1 3 ROW2 3 1' ROW 2
: aal—ROW 3] Q Q : ___aa|—ROW 3] (&) : aal-ROW3
= o a alfE al%
) < <-2F < -2F
1 3E 3
A16t; 22 - A, 16t T22; “A540-2-00-2020:608 1214t 61822224
Time phase @ 4 w4 Time phase " 4 Time phase
EX+ COL 4 o =3 Y+ COL 4 Ton s =3 EX-COL 4 ron = 3EY-COL4 ows
3 Sgaz 3 21 i ROW2| 3 21 3 ROW2| 3 21 3 ROW 2
3 cose ° | 3 O 0E cose —ROW 3 Q oFE cose —ROW 3| (&) 3 POSTN —ROW 3
. [= ] (a1 o 4
3 < -2 <-2F < -2F
1 3 3E 3E
AT6T, 22 A8 A6 T, 22 -] AT6T 2 A 540 0020 A6 UE TTZTA] 61.822.2223
Time phase w4 Time phase o 4 Time phase w4 Time phase
EX+ COL5 o =3 Y+ COL 5 ony = 3 EX-COL5 o = 3fY-COL5 oy
: ol 5 i ol o af o] 3 o
e a X ad% a3
3 < -2 <-2F < 2F
1 3 3E S3E
4161, 22, A% A6 T, 22 -A. AT6T: K A 5.40:2-00:2040:608 T 12141 61.82 2224
Time phase @ 4 Time phase w4 Time phase " 4 Time phase
[—ROW D] [[ROW T - [—ROW O] - [[ROWT
a_ +COL6 Trow 1| = g _Y+ COL 6 row1| E gEK COL 6 Trowi| = gE! COL 6 Thow 1
: v 3 aF | 3 aF v 3 A w2
3 -— - O o O o ° = O oF . =
it a aqfE ** a-f °**
3 < <-2F < -2F
1 3E 3E
AT6T. 2. - - ATHT 2 “A540.200:20-20608 T 12T 61.82 2.22.4
Time phase @ 4 w4 Time phase " 4 Time phase
EX+ COL 7 o | =3 Y+ COL 7 o 1 =3 Ex-coL7 o = 3fy-cOL7 on
: BYg 3 o 8y 3 ] B
1 = O oF Q ok = O oF
3 * o— a 0 [ a %_ [ a %_ > o—
3 < <-2F < -2F
1 3E 3FE
-0.AU0.2F0 0. .40.00.8 TT.2.41.61.8 2 2.2.4 - -4- 4101, /R -4- 4U.2-U0.20.40.bU.8 TT.2T1.41.61.82 2.22.4
Time phase  ~ , w4 Time phase  ~ , Time phase
EX+ COL 8 -FoWY = 3FY+ COL 8 FOoWT] 2 3 EX- COL 8 oW = 3EY-COL 8 [-Fowe
: o 2 oul E2F ol B 2 ooy
. e _ROw 3 3 JE _ROW 3 3 JE .. _Row 3 3 JE .o . _Row 3
1 ” a a -1E ” aQ -1E C
. < <-2F < -2
1 3E 3E
AT6T. 2. -4 ATHT 2 A5 4027002020608 TTZT AT 61.82 2.22.4
Time phase " 4 o 4 Time phase w4 Time phase
EX+ COL 9 “on| £ 3fiy=CoL9 —owo) £ 5 [X-COL9 o £ 3fY-coLe o
: By 3 3 ETHIE] S w2
3 3 = 3 3 3| 3 3
1 = O 0F OO0E = O 0E oo
= a - * a1 * a1 *
3 < % < g 3 < § 3
-0.4aU0.2;-00.0.40.00.8 TT.2.41.61.8 2 2.2.4 -4- A6, 22, -4- 4101, /K -4- 4U.2-U0.20.40.6U.8 TT.27.41.61.82 2.22.4
Time phase « 4 Time phase @ 4 Time phase " 4 Time phase
EX+ COL 10 oy = 3EY+ COL 10 oDl = 3 E[X- COL 10 oWy = 3EY-COL 10 [-Fowe
h —! c 2F —Row1l ‘e o E —ROW 1] "2 5 EL _ROW 1
ROW 2| =1 1 ROW 2 =1 1 ROW 2| =1 1 ROW 2
3 —ROW 3| 3 _ROW 3 3 —ROW 3| 3 _ROW 3
1 oo Qo0 OO0E O 0F . —o
= o at o -1 a-E
3 < <-2F < -2
1 1 3F
. -4 =
" w4 o 4 ﬂI:llme Ease
E[X+ COL 11 I £ 3 fX- COL 11 oW = 3fly-coL 11 T on
3 rowz| S 53 rowsl § 3F ROW 2
3 _ROW 3] 3 _ROW 3] 3 _ROW 3
1 Q QO0E O 0E
. a a1 * a-f *
X < <-2F < -2F
1 3E )
-4
“Time phase "Time phase “Time phase “Time phase




T03-FM101 TIME EVOLUTION [Reference=pre-CU] for Pedestal FWHM [Gain index 5, HEX8]
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[CUnew] muonAsym.digitization-latte-v1r030603p2_700000276_digi_DIGI_T03.txt [ 25.0C]




T03-FM101 TIME EVOLUTION [Reference=pre-CU] for Asymmetry-SL R-L [Gain index 5]

0.2
B1sEX cOL 0 ow |

ROW 2

- _____l-Rowg]

.2
B.is Bx coL 1 oW

ROW 2
a |—ROW 3|

.2
B.is X COL 2 o

0.1F
0.05 E ROW 2|
0E cooe- —ROW 3]
0,05F y
-01E
-0.15E
0.2
0.2 "Time phase |, "Time phase
: [—ROW O H [CROW 0
BisEx coL 3 Crows| 2bds o
= E ROW 2| v ROW 2
D'Og 3 . e . |-Rows 0.05 o —Row 3
I . ~— -0 esoe————9 — =
.000 . -000
-0.15F -0.15
0.2 0.2
02 " Time phase Time phase
; [—ROW O] H [CROW U
a‘i.as1 X COL 4 o 3%351 o
0.05F row2l g g5 Row 2
0F  eove— S5H 0F  eece = [-JOWS
.000? . -000;5
0.15E -0.15
0.2 0.2
0.2 “Time phase ., "Time phase
. [—ROW D] h [ ROW T
68.(1153I X COL 5 o a%.as; o
y ROW 2 v ROW 2
0.05 —ROW 3} 0'95 .o —ROW 3

0.0 i
-0.1
-0.15
-0.2
2 0.2 Time phase
8.15 [X COL 6 Towy| 3915 =Fom
01E ROW 2 01 ROW 2
0.05E _rows| 0.05 _ROW 3
0E -0
1 -0.05
1 -0.1
1 0.15

"Time phase

0.2
[—ROW D] [-ROW
£351 x COL 7 —ROW 1 —ROW 1
00'5 3 ROW 2| ROW 2
.-0 : oo 7/__ROW3 —ROW 3
-0.05E b -
-01E
-0.15F
-0'2- AUZ-U0. 04008 TT.2.41.61.8 2 2.2Z2.4 4U. .20.40.0U. Z1.41.67. 22,
0.2 Time phase  , Time phase
B.15 X COL 8 rong| 3%.15 oy
01E ROW 2| 01 ROW 2
0.03 coso _rows| 0.0 .. ___o |-ROWS
-0.05E -0.05 i —
-01E -0.1
-0.15F -0.15
-0.2. ez 02 ABTBI 22
0.2 Time phase ., Time phase
B.15 X COL 9 ony| 3%.15 o 1
0.1F ROW 2 0.1 ROW 2
0.05 & . _row3s| 0.0 _ROW 3
BE e — P
-0.05F -0.05
-01E -0.1
-0.15FE -0.15
02, arersrzza 02 AETEIIIE
Time phase Time phase
0.2 o <0.0:2
B8.15 X COL 10 ~Tong| 3%
0.1 ROW 2|
0.0 _Row 3

2
B.i5 X COL 11 o

ROW 2
—ROW 3

“Time phase T " ime phase
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[TO3-FM101 Test 4]

[pre-CU] mc_asymSL.041022230030_FM101_Pshp_calu_collect_ext.txt [ 25.0C]




T03-FM101 pre-CU Asymmetry-SL R-L [Gain index 5]

%

%

0.2

0.2

[)=azrnn

AP I I N I I I P I DU B PSR B PRI I EPEMPE EPRPR IR A I I R
5 10 15 20 25 30 35 40 45 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
Channel %

OFFFTIT

0

ol—l

NI AT NI NAATE ANAPET AT ATAT AT NET AT ATAT AT ANAT AT A 8 i o o L

0.3 0.4 0.5
Channel

'm_

o

%




[TO3-FM101 Test 4]

[CUold] muonAsym.330000866_BT13_IDEAL_digi_T03.txt [ 25.0C]




T03-FM101 CUold Asymmetry-SL R-L [Gain index 5]

%

%

0.2

0.2

[)=azrnn

OFFFTIT

AP I DA I A A I N I B R

25 30 35 40 45 0.

N IIII|IIII|IIII|IIII|IIII|IIII|I

o
w
p.
=
o
[$,]

0.7 0.8

0.9

%

Channel

L

Channel

P BT e 1 N N T R T A S
8. 0.3 0.3 0506 0.7

) E—

%




[TO3-FM101 Test 4]

[CUnew] muonAsym.digitization-latte-v1r030603p2_700000276_digi_DIGI_T03.txt [ 25.0C]




T03-FM101 CUnew Asymmetry-SL R-L [Gain indeXx 5]

%

%

0.2

0.2

[)=azrnn

n
0

7

5 10 15 20 25 30 35 40 45

[ IIII|IIII|IIII|IIII|IIII|IIII|IIII|I

of
w

0.4

0.5

0.6 0.7

0.9

%

Channel

|

Channel

8.

0.6

o

%
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T03-FM101 TIME EVOLUTION [Reference=pre-CU] statistics for Asymmetry-SS R-L [Gain index 5]
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[TO3-FM101 Test 5]
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[TO3-FM101 Test 5]
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T03-FM101 TIME EVOLUTION [Reference=pre-CU] statistics for MeV per DAC - LARGE [Gain index 5]

%

%

©
T 17 T 11 T 11 T 11 T 11 T 11 TTT T
\ \ \ \ \ \ \

o
B

o

10 12 14
% [0.5(MAX-MIN) and RMS]

o
N
FS
o
©

-
=)
\H‘H\‘\H‘H\‘H\‘H\‘\H‘H\‘H\‘H\

=
—

L ‘ L L ‘ L L ‘ L
10 12 14
Channel % [0.5(MAX-MIN) and RMS]

o
(=]
=]




[TO3-FM101 Test 6]

[pre-CU] mc_mpdLarge.041022230030_FM101_Pshp_calu_collect_ext.txt [ 25.0C]




T03-FM101 pre-CU MeV per DAC - LARGE [Gain index 5]
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[TO3-FM101 Test 6]

[CUold] muonMPD.330000866_BT13_IDEAL_digi_T03.txt [ 25.0C]




T03-FM101 CUold MeV per DAC - LARGE [Gain index 5]
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[TO3-FM101 Test 6]

[CUnew] muonMPD.digitization-latte-v1r030603p2_700000276_digi_DIGI_T03.txt [ 25.0C]




T03-FM101 CUnew MeV per DAC - LARGE [Gain index 5]
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[TO3-FM101 Test 7]

[pre-CU] mc_mpdSmall.041022230030_FM101_Pshp_calu_collect_ext.txt [ 25.0C]

[CUold] muonMPD.330000866_BT13_IDEAL_digi_T03.txt [ 25.0C]

[CUnew] muonMPD.digitization-latte-v1r030603p2_700000276_digi_DIGI_TO03.txt [ 25.0C]




T03-FM101 TIME EVOLUTION [Reference=pre-CU] for MeV per DAC - SMALL [Gain index 5]
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T03-FM101 TIME EVOLUTION [Reference=pre-CU] statistics for MeV per DAC - SMALL [Gain index 5]
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[TO3-FM101 Test 7]

[pre-CU] mc_mpdSmall.041022230030_FM101_Pshp_calu_collect_ext.txt [ 25.0C]




T03-FM101 pre-CU MeV per DAC - SMALL [Gain index 5]
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[TO3-FM101 Test 7]

[CUold] muonMPD.330000866_BT13_IDEAL_digi_T03.txt [ 25.0C]




T03-FM101 CUold MeV per DAC - SMALL [Gain index 5]
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[TO3-FM101 Test 7]

[CUnew] muonMPD.digitization-latte-v1r030603p2_700000276_digi_DIGI_T03.txt [ 25.0C]




T03-FM101 CUnew MeV per DAC - SMALL [Gain index 5]
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